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Clearfk, K, kK};

k=3.14%107";

KT 1000000 ;

kK =k K

¥
£lt_, y ] i=kKy (1— -) /1N
K

h=20;
HumSteps = 257
IC = {400, 10000},

- EBulerStep[{t , v }] :={t, ¥v}+{h, hef[t, ¥v]};

points = NestList [BulerStep, IC, NumSteps];
approxsoln = ListPlot [points, Joined —» True]

TableForm [Table {points], TableHeadings - {None, {"t",
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BulerStep{{t_, v 1}l :={t, v} +{h, h«f[t, yl};

¥
£l , v. ] :=kKy (1— -) JfN;
K

h=25;
NumSteps = 60;

[

QE}IC = {400, 10000} ;
points = NestlList [BEulerStep, IC, NumSteps];
approxsoln = ListPlot [points, Joined -+ True] :
TableForm [Table [points], TableHeadings - {None, {"t", "y"}1}] ¢ Eg_%{w
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